PréNOM & veeeeeeeeee e, DO & e
38x5=(.+ . )x5 6x74=__ x(..+..)
38x5=(..x5)+(..x5) 6é6x74=(.x. . )+(..x..)
38x5=.. . + 6x74= . . +
o) 38x5=190 6x74= ...
e Calcule:
948 x 6 = (900 + 40 + 8) x 6 948 204
948 x 6 = (900 x 6) + (40x 6) + (8x6) _ x| 900° 40 ~ 8 943
948 x 6 = 5 400 + 240 + 48 (65400 240 | 48 | ° X
948 x 6 = 5 688 = 5688 5688
3x237 = ..x (200 + 30 + 7) 237 537
3x237=(.x200) + (.x30) + (.x7) _ x| 200 .. 7 . 3
3%237 = .t . 3| %0 | . %
3)(237:7]] =
609 x 5= (600 + 0+ 9) x .. 609 609
609 x5=(600x.)+ (0Ox.)+(?x.) o X\ o % 5
609 x5= ...+ ... + .. 3000 0 45
609 x5=_..... e R SRR
8x274=_ x| + .+ 274 27 4
8x274=(.x )+ (x.)+(x.) D E o 8
8X274= .. 4. . s | .| . . %
8x274= ... R R
53T X6= (... + .. + ) x P 531
531 x6=(... X))+ (. x)+(_4.x)E> X[ e 5 X 6
531 xé6= ...+ ... +
531 x6= ... R U R
e Calcule en colonnes :
‘58 56 49 63 71 84
X 6 X b X X X X
S48
264 357 488 704 937 820
X 4 X 5 X 6 X 3 X 8 X /




